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Hhere are 6 questions. Question no. 1, 2, 3 und 4 a compulsory. Answer any one from
Question No. S and 6. Programmable’ ealcalators are allowed. Do not write on this
uestion paper. The figures n the write margin indicate full g

I Amwerans four questions shown below from (s) 1o (col-po1y
(o Pifference clearly between plane and geodec surveying (5X4=20)
{6 For what type of projectrea chain Surveying fs sunabiz? Sute the
parpose(s) of “Check line’ and “Base line’ in case of chaly
surveying
(€) Write down the name of the instruments used in plane table
surveying and briefly describe their usage.
(4) Define:(i) True Meridian and True Bearing (i) Magnetic Meridian
and magnetic Bearing
(€) Define: (i) Plumb line (ii) Bench Mark (i) Elevation
2@ A 30m chain was tested before starting the day's work and found 10 be 20 (C04-p02)
i ot Afler measuring a length of 1200 m, the chain way 1icy a0)
Chain e was found 10 be 10 ¢ 100 long. At the end of the day's work 1
chain was tested again and was found to be 30 em 00 long. Find the true
length of th fine i th total length measured was 2644 .

Describe the methods of Radiarion and ntersection of plane wbling with  (CO4-p02)
proper figure. (10)

3 Due o some problems with equipment, the bearings of two sides were not (C04-PO2)
iaken for & closed traverse ABCDEA. From the avaiable dgy compute the @0)
bearings of the two sides
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The ground level (GLs) at 20-m intervals on a stretch of ground are as

iven below; .
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|
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The depth of cuting at chainage zero s 1.54 m and the formation goes at
longitudinal upward slope of [ in 40. Find the depth of cutting at sach
section and the volume of canthwork(both trapezoidal formula and
prismoidal formula) in this stretch if the formation width is 6 m and the side
slope is 2:1. The ground is level in the wransverse direction,

The staff readings wken during a survey in order are as follows: 2,365,

1:655.0.695. 1.280. 2.355. 2.065. 1.755. 1.635. and 0.855. Find the reduced

fevels of all the sutions. The instrument was shifted after the readings

0.695 and 2.065. The reading 0.695 was to a benchmark of elevation

201.655 m. Apply necessary checks and draw diagram of the stations based
1

on their R.
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The following readings were observed in sequence: 1,324, 3,605, 1385,
0.638, 1.655, 1085, 2.125, and 1.555. The instrument was shifted after the
third and sixth readings. The third reading was taken 10 an arbitrary
benchmark of elevation 0.000. Find the reduced levels of all other points,
Apply necessary checks and draw diagram of the sations based on their
RL
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